Wednesday IXL Sections to help with times

Division written method tables are BB and CC
Group A

Warm up

Using your division Facts, have a go at working out these questions. There may be
remainders

7 +5 - 7 2=

16 + 3= 26+ 3=

L2 ~10= 28 + 8 =
Task 2 — use the method taught today to help you.

1. 2)70 2.2) 6 6 3.2)93 4 2)55

5. 3)72 6. 3)9 1 7. 3)5 4 8. 3)85

Tosk 3 — ' " thod bef king 1 leulati I
65+5=
72+4=
56+2=
84+6=
155+5=



Task 4: Explain the mistake that
Mr Riddoch has made in each
guestion. Use the correct
language.

Chal.lmge: Use your written method to help you solve these word problems.

S5a. Mr Rogers has a box of books.

He gives an equal number of books to
each of his three helpers to give out.

|

5b. A zookeeperhas _ bamboo shoots.

She gives an equal number of bamboo
shoots to each of the three pandas.
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How many shoots does each panda get?




